SM1 Chapter 6A "1 (6.0-6.4)

Exponential Functions
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Graph of the function and then state the Horizontal Asymptote, Domam and Range.
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Asymptote:y = _O
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Determine whether each of the following represents an exponential function. QCM%%;uﬁ%ﬂ ‘,fi:b;%?f;;ﬁam\
If it is an exponential function, state whether it is exponential growth or decay. Explain. =~ )
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Write each formula. (Use your notes)

(Use initial amount a, rate r, time ¢, principle P, and number of times compounded in a year n)

12) Exponential Growth: 13) Exponential Decay: 14) Compound Interest:
= t ] rANE
y=a(l+r) y=a(l-r) A=P(l+%)

For problems 15-18, determine whether the function represents exponential growth or decay (Circle one)
and then identify the initial amount (a) and percent rate of change.

Evaluate the function when Round answers to the nearest thousandth._* “‘ed S peath
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For problems 19-21, write a function for the situation given. Then use it to answer the question in partb.

19) Due to an unfortunate zombie apocalypse, a population of 20 0,000by@@_ each year.
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20) A newborn baby dragon weighs|5 pounds)and(increases|its weight by{_ZS%(every month until it’s fully grown.
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a.) Write a function that represents this situation: b.) What will the dragon’s weight be after[11 monthsp
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21) Mr. Tibbs invested $6,700lin an account that earns an interest rate of{5:75/6} compounded quarterly.| (n=4)
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a.) Write a function that represents the balance after t years: b.) How much money w1ll he have after [[0 yearsp +=(o
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Determine whether the following are linear or exponential. (Circle one) Then write the function for each.
(Hint: When writing the function, use the formy = mx + b for linear andy = /t'l(b)"' for exponential)
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26) Two organizations are collecting donations for a cause. The table shows the numbers of donations collected by
Organization A. The graph shows the numbers of donations collected by Organization B.
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a.) Compare the organizations by calculating and interpreting the average rates of change from hour 1 to hour 4.
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Simplify the expression. Your answer should contain only positive exponents.
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